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K P T, (hr) f (m°/s) (km?) Rsa(mm)
S-1 40 1/3 0.8 0.5 3.4 85.8 237
S-2N 25 1/3 1.0 0.5 1.6 40.0 237
S-20 55 1/3 3.0 0.5 5.3 132.2 237
S-3 24 1/3 1.6 0.5 2.0 50.1 237
S—4 40 1/3 1.6 0.5 3.0 75.1 237
S-5 32 1/3 3.0 0.5 8.7 218.2 237
S-6 30 1/3 2.8 0.5 5.1 128.2 237
S-7 35 1/3 2.0 0.5 1.6 411 237
S-8 23 1/3 1.8 0.5 2.5 64.5 237
S-9 23 1/3 2.0 0.5 2.5 62.9 237
S-10 37 1/3 2.8 0.5 5.6 141.1 237
S-11 33 1/3 3.0 0.5 7.0 175.6 237
S-12 33 1/3 3.0 0.5 7.6 191.2 237
S-13 39 1/3 24 0.5 4.6 115.6 237

XEAFITWE (L. S34. 9H/KkFHIRE

o EE STERT E I
TIBEF (km) K P T.(hp)
K-1 31.9 50 0.63 0.9
K-2 10.3 25 0.65 0.4
K-3 21.6 60 0.65 1.0
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A No T4 S A T K P T L (hr) | JEJEViHE | Rsa
(km®) (mn’/s) (mm)

1 Fooo )| sk 53.2 48  0.333 1.20 2.7 120
2 AP Ptk 32.6 32 0.333 0.72 1.7 120
3 B & A TR IR 29.0 38 0.333 0.48 1.5 120
4 B 1| Jri e 39.0 38, 0.333 1.80 2.0 120
5 RN R0 35.4 26/ 0.333 1. 20 1.8 120
6 KT vinlok 68.8 28 0.333 1. 05 3.5 120
7 = B E sk 54. 2 53| 0.333 1.51 2.8 120
8 DU - H B8 1383k 47.6 30, 0.333 0. 96 2.5 120
9 B R Bk 31.8 37/ 0.333 0. 80 1.6 120
10 IRAY 5 ik 81.6 43 0.333 1. 20 4.2 120
11 YEIER I 100. 9 56/ 0.333 0.15 5.2 120
12 FAGRFR ek 60. 1 39 0.333 0.13 3.1 120
13 KFnPHAE) | E ik 91.3 54/ 0.333 1.49 4.7 120
14 )|tk 41.5 37/ 0.333 0. 90 2.1 120
15 RFNFFA ) FR itk 44.3 44 0.333 1. 00 2.3 120
16 & AT it dok 65.0 35 0.333 1.10 3.3 120
17 JUEE L FE i ek 59.3 30 0.333 0.80 3.1 120
18 ROt PEAE I itk 62.9 42 0.333 1.18 3.2 120
19 Ao PEAE ) 1 7 it gk 56. 1 43 0.333 1.20 2.9 120
20 R FR i 30.8 24 0.333 0.56 1.6 120
21 TARFER imk 45. 2 25 0.333 0. 48 2.3 120
22 RIS 7% ik 58. 0 31/ 0.333 0. 88 3.0 120
23 WS T AR ek 76.6 30, 0.333 0.72 3.9 120
24 ) sk 36.9 30, 0.333 1.50 1.9 120
25 B gk 90. 4 32/ 0.333 2.38 4.7 120
26 EL[E) I stk 51.9 47 0.333 1.14 2.7 120
27 B E) R I 31.2 33 0.333 0.36 1.6 120
28 H 7 O 7RIk 29.4 32 0.333 0.30 1.5 120
29 E AR ik 42.2 37 0.333 0.75 2.2 120
30 (= 1S R Tk 26.3 34 0.333 0.80 1.4 120
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E X5 X[ I He i B
—EtH
(km) K P T1 TR [ At i B
A KX L~ KHEEH I 17.2] 12.5]  0.69 0.
B =l 11.2] 9.9 0.65 0.
C K H L~k 18.5| 15.6/ 0.69 0.
D R~ T 9.1l 9.5/ 0.68 0. 0.39
E TP~ AR 14.0| 14.7  0.67 0. 1.69] 0.93 0.63
F RFFHEN 12.8 6.9 0.72 0.
G TR~ AR 9.5 7.7 0.72 0.
H A~ I (L 6.1 9.2/  0.67 0.
I Ao FHE) 13.7] 8.3] 0.68 0.
J JUBE L1~ JkilRE 14.3| 19.8]  0.68 0.
K RIS~ fi 10.2| 10.6/ 0.73 0.
L = o L1 M bt 32.0| 17.1/  0.65 0.
M H[EH)] 14.2] 8.1/ 0.64 0.
N HEIAWwA~I/ 0 14.3] 8.6/ 0.69 0.
0 ) 1 B X 5.4 8.7 0.64 0.




